Summary of Darcy Equations

(Z+↓, sin = z/L

1.  Incompressible Fluid
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  Problem:  Verify the equations by making the following series of calculation.

1) Calculate q in darcy units when k = 1 d, A = 1 cm2,  = 1 cp, p/L = 1 atm/cm,     = 1 g/cm3, g = 980 cm/s2, and  = 45o.

2) Convert k, A, , p/L, , and g to SI units and calculate q in SI units.

3) Convert k, A, , p/L, , and g to oilfield units and calculate q in oilfield units.

4) Convert q in SI and oilfield units to darcy units.






2.  Real Gas



standard        horizontal,

       horizontal,


conditions,    linear form,

       radial form,
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